

# Ex 1.1.13

$$a) \left( \begin{array}{ccc|ccc} 1 & -1 & 0 & 1 & 0 & 0 \\ 0 & 1 & -1 & 0 & 1 & 0 \\ 1 & 0 & 1 & 0 & 0 & 1 \end{array} \right) \sim$$

$l_3 - l_1 \rightarrow l_3$

$$\left( \begin{array}{ccc|ccc} 1 & -1 & 0 & 1 & 0 & 0 \\ 0 & 1 & -1 & 0 & 1 & 0 \\ 0 & 1 & 1 & -1 & 0 & 1 \end{array} \right) \begin{array}{l} l_1 + l_2 \rightarrow l_1 \\ \sim \\ l_3 - l_2 \rightarrow l_3 \end{array}$$

$$\left( \begin{array}{ccc|ccc} 1 & 0 & -1 & 1 & 1 & 0 \\ 0 & 1 & -1 & 0 & 1 & 0 \\ 0 & 0 & 2 & -1 & -1 & 1 \end{array} \right) \sim$$

$\frac{1}{2}l_3 \rightarrow l_3$

$$\left( \begin{array}{ccc|ccc} 1 & 0 & -1 & 1 & 1 & 0 \\ 0 & 1 & -1 & 0 & 1 & 0 \\ 0 & 0 & 1 & -\frac{1}{2} & -\frac{1}{2} & \frac{1}{2} \end{array} \right) \begin{array}{l} l_1 + l_3 \rightarrow l_1 \\ l_2 + l_3 \rightarrow l_2 \\ \sim \end{array}$$

$$\left( \begin{array}{ccc|ccc} 1 & 0 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 0 & 1 & 0 & -\frac{1}{2} & \frac{1}{2} & -\frac{1}{2} \\ 0 & 0 & 1 & -\frac{1}{2} & -\frac{1}{2} & \frac{1}{2} \end{array} \right)$$

$\underbrace{\hspace{10em}}$   
matrix inverse

$$b) \left( \begin{array}{ccc|ccc} -1/2 & -1/2 & -1/2 & 1 & 0 & 0 \\ 3/2 & 1/2 & -1/2 & 0 & 1 & 0 \\ 1 & 1 & 0 & 0 & 0 & 1 \end{array} \right) \begin{array}{l} -2l_1 \rightarrow l_1 \\ 2l_2 \rightarrow l_2 \\ \sim \end{array}$$

$$\left( \begin{array}{ccc|ccc} 1 & 1 & 1 & -2 & 0 & 0 \\ 3 & 1 & -1 & 0 & 2 & 0 \\ 1 & 1 & 0 & 0 & 0 & 1 \end{array} \right) \begin{array}{l} l_2 - 3l_1 \rightarrow l_2 \\ \sim \\ l_3 - l_1 \rightarrow l_3 \end{array}$$

$$\left( \begin{array}{ccc|ccc} 1 & 1 & 1 & -2 & 0 & 0 \\ 0 & -2 & -4 & 6 & 2 & 0 \\ 0 & 0 & -1 & 2 & 0 & 1 \end{array} \right) \begin{array}{l} -\frac{1}{2}l_2 \rightarrow l_2 \\ \sim \end{array}$$

$$\left( \begin{array}{ccc|ccc} 1 & 1 & 1 & -2 & 0 & 0 \\ 0 & 1 & 2 & -3 & -1 & 0 \\ 0 & 0 & -1 & 2 & 0 & 1 \end{array} \right) \begin{array}{l} l_1 - l_2 \rightarrow l_1 \\ \sim \\ -l_3 \rightarrow l_3 \end{array}$$

$$\left( \begin{array}{ccc|ccc} 1 & 0 & -1 & 1 & 1 & 0 \\ 0 & 1 & 2 & -3 & -1 & 0 \\ 0 & 0 & 1 & -2 & 0 & -1 \end{array} \right) \begin{array}{l} l_1 + l_3 \rightarrow l_1 \\ \sim \\ l_2 - 2l_3 \rightarrow l_2 \end{array}$$

$$\left( \begin{array}{ccc|ccc} 1 & 0 & 0 & -1 & 1 & -1 \\ 0 & 1 & 0 & 1 & -1 & 2 \\ 0 & 0 & 1 & -2 & 0 & -1 \end{array} \right)$$

matrix inverse